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1) FIELRRERR
(&EF)
= N SMTHE 2 3 4 5
FREEN|EETEA| TRECH|BETEA|FRBEHR|EETEHA| FRBEN|BETEA| FRESH|EETER
g 935 358 681 232 760 288 851 305 724 253
X &L 7 3 3 0 2 1 3 1 5 4
#HOF L 113 39 105 42 99 40 96 32 01 27
&G & e 662 266 461 134 514 190 568 226 502 194
Mo B 26 10 24 11 27 11 51 14 25 6
B % e 15 5 8 5 11 6 8 5 9 1
0O 112 35 80 40 107 40 125 27 92 21
(BH) TRERE (BAL: 4)
F) FREENE. EET - TROOAFTHHK
2) ’BfTR (HER
(& EF)
= N — + % = = A
SHITHE 2 3 4 5
# 352 119 224 366 330
/4 i 60 9 28 31 16
152 e 41 12 53 122 169
2 % E A - - - - -
X B/ BT 2 - - - -
AR - AL 35 29 5 2 7
1= ya) Y - - - - -
P R A A 129 42 125 186 102
£ H 35 11 4 10 18
i N = 6 3 4 - 2
P 1 - - - _
BaFER - WETD - 1 - - -
r B X K - - - - -
A s 5 3 - 2 -
~ 2 K1 E 34 7 5 13 "
= S - - - - -
& & B W 2 2 - - -
®2 E T A 2 - - - 5
z ) ftt - - - - -
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Wi | BT (BBE| BE | EE |TES| ~245%|256~29|30~39(40~49( T
SHTE| 120 [ 148 1147 30 30 60 16 10 14 19 59 2
2 106 | 136 1 135 22 28 56 8 9 10 19 56 4
3 103 | 124 - 124 19 29 55 17 11 9 12 54 -
4 98 | 109 1108 15 35 48 9 10 10 18 49 1
5 77 92 1 91 13 24 40 10 6 9 12 40 -
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5 x| wy Eme| 25 | [BE B2 %i_@ EE| B9 | oo |ie | L %%% £t
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SHITE| 120 - - 16 8 - - - - 3 1 75 17
2 106 - 1 5 6 5 1 - - 9 - 64 15
3 103 - - 12 8 5 - - - 7 - 64 7
4 98 1 - 13 4 - - - - 5 - 65 10
5 77 - - 16 1 - - - - 5 -4 8
(BHTRERE (BRI )
3)F=HUR I (BHRB)
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E WA E
F R % % ARER | BERENET EI g a® |mam| zom B Yk = T
SHMITHF 120 14 11 - 49 27 17 1
2 106 18 9 2 26 26 22 3
3 103 15 14 4 25 29 15 1
4 98 12 9 4 28 23 20 1
5 77 11 12 - 21 20 12 1
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